Signature and Name of Invigilator
1. (Signature)
(Name)
2. (Signature)
(Name)

18

Time : 2 hours]

PAPER - 11
MANAGEMENT

OMR Sheet NO. : .........ccovermrercineineineincireeeneseeersenennes
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 200

Number of Pages in this Booklet : 56

Number of Questions in thi,l_s Booklet : 100

Instructions for the Candidates
1. Write your roll number in the space provided on the top of
this page.
This paper consists of hundred multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet umber
should be entered on the OMR Sheet and th\"O AR Sheet
Number should be entered on this Tesi Booklet.
4. FEach item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as ifidicated below on
the correct response against each item.

Example: @) Q) @ (@ where (3)isithe correctresponse.

5. Your responses to the items are tg be indicated in the OMR
Sheet given inside the Booklet'only. | If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

6. Read instructions given igiside carefully.

Rough Work is to'be done'in the end of this booklet.

8. If you write your Name, Réll Number, Phone Number or
put any mark on any part ofithe OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators

at the end.‘ of the examination compulsorily and must not

carry it with,you outside the Examination Hall. You are
however, allowed to carry original question booklet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.

N

(ii)

(iii)

N

10.
11.
12.
13.

TitertfelEi o fere frder

&
W@#wmﬁwmmﬁﬁwm( .

2. W YH-I7 # 9 agfasweda v

10.
11.

12.
. fe STt = fét fereror # whrg forgmfa &1, <t SOt feremor Sifaw

TR TRES B R, J9-JReqehT SA9eh! < <F AT | U8l i fie

3T JeA-YfErehT Wie g1 sHet FEfated sie & fae &3

SR, TSrEeRt Sife SATaeh] SERS! FAT: F

(i) SRA-gf<eR T & o gt W ol HETS 6t Hie w6
e S gl g A1 o E - et R gfeh TR A |

g!qug'mwﬁr Uy-Yfeent ok U 99T W91 i

/AT w3 O W ot fh A qr ¥ oyt gfieenr

T g/ uvs T & 91 O 3 T & o1 HiRkae § A @
fefet oft wente st Ffequt gfent wieR I =1 ot dem
W FTSToRT SHoh LT WX ORI W&l U9-YRaeht &
o %mmﬁamﬁawummw
3ATUehl W= GfeTehT ST0E it ST ST 1 & 3Mmaent Sifdiih
feam S
(iii) 39 9 & o F¥I-YREH H FoR OMR Tk T ifshd &Y
3T OMR 951 T HoR 39 J9-Gident W iferd X T |
T U % AU TR I fawed (1), (2), (3) 7 (@) & ™ F
3MIHT Tl W % I Bl U7 F SR FleAl H1 € S f A=
fe@mn T T
[MRO: D @ @ @ vdf (3) W W
Tl % I Shael W9 Yfetent o 3T fedl T OMR 0ok W&
3ifhd A €1 9 39 OMR o5& R 53 T g1 & o7arman foret
3T WM R IN fogiferd X 8, O 351 i T8 g |
a1 fad T fAdRTT ol e U |
= %W (Rough Work) 30 &l & 31f<a9 98 T |
9fg 37 OMR U W 7o T & STalren 3191 AW, U TR,
T TR A1 e oft U Forg foad sarueht wee & O, Siferd
T SAgaT S9g T T WA HIA E, A R 3T fEd WEH A
AR W €, w9 foh siferd ford T SR 1 faer @ wthe @ |
e @ Tien % fed srira wifd fRa S TeRd €1
3MIehT TRI&T FHE € W gt OMR T3 FRiersh Heied &l dAter
ST © SR T 1Y & 91 39 79 1Y WaT wa § sl
AR ST | BTeifeh 39 T Wi o el ge-gient ST |y
o T W € |
heeT AT/ RTe ST WSS U T & Y& i
feret off YRR T 0T (FAHere ) A1 T Sae MG T
AT afsia ¥
A ST o fIT g TRRIHR 3ieh el &1

HHET S

J-01718 H|

!

P.T.O.

www.examrace.com



MANAGEMENT
PAPER-1II

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All

pouss [

questions are compulsory.

g |
From the following determinants of the price elasticity of demand, indicate the cllorregt code
for the determinants having a positive relationship with the degree of the price elasticity of

demand : f r
(a) Range of substitutes of the commodity

(b)  Extent of the different uses of the commodity el 3

(c) Portion of the income of the buyer spent on the cBmmodi{ty (

(d) Income group of buyers purchasing the ommodi:yl'

Code : fr'lll ' __J'I

(1) (a) and (b) only @ (© am} ?6 only

(3) (a), (b) and (c) only " 4) (b), (c) and (d) -6';11y

!

« /
Match the items given in Listt -41 with those given in the List - II and suggest the correct
code :

List - I List - II

(a) Marginal Prod:{ctivi / Average Productivity (i) Isoquant curve
(b)  Substitutability of inputs (i) Isocost line
(c) Constaﬁtmegative Slope (iii) Production Function
(d) Convex to'”_rigi;fl (iv) Elasticity of Production
Code ?

~(a) (b) .I (c) (d)
a6 @ 6@
@@ O @ G
@ ® @ @ o
4 (@) @) @ @

JURVRERE A : Fapec
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youns [

From the following two statements of Assertion (A) and Reasoning (R) suggest the correct code :

Assertion (A) : The equilibrium price is decided at the level where the quantity demanded
equals the quantity supplied.

Reasoning (R) : At this level excess of demand and excess of supply both remain zero.

Code :

(1) (A) is correct but (R) is incorrect. f

(2) (A) is incorrect but (R) is correct. ..r‘; ‘
(3) (A) and (R) both are correct but (R) is not right explanation of (A)I

(4)  (A) and (R) both are correct and (R) is right explanation of (A). J

{ °,
g ™ |i
Despite differences in cost of production the oligopolists will not vary the prices of their

products as per which combination of the following models ?
J .

(a) Collusion model (b) | Courrlit’s flnodel
() Kinked Demand model (d) " Price Leﬁﬁéership model
Select the correct code. e
A { (
(1) (a) and (b) only - I (2 (c)and (d) only
<
(3) (a) and (d) only J' (4) (a), (b) and (c) only

For the following twp statements of Assertion (A) and Reasoning (R) suggest the correct
code :

Assertion (A) : ' Low initial price regarded as the principal means for entering into mass
4 market for some new products.
-~ 1
Reasoning (R) : ﬁirms generally enter into production of new products with excess capacity
of the plant initially.

Code :

(1)'. (A) is corrclect but (R) is not correct.

(2) 4 (A) is not correct but (R) is correct.

3) (A) and (R) both are correct and (R) is right explanation of (A).
(4) (A) and (R) both are correct but (R) is not right explanation of (A).

‘ 4 Paper-II
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)
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)

(1)
(2)
(3)
(4) (A) T (R) I 6 § T (R), (A) T HE TR T |

(
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- 5 E
4. fy=fafea § 9 frm daem | d@ied * WWWW‘IW‘H‘? I o AN]SR ST
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6.  The firm may go for defensive advertising as per which one of the following approaches ?
(1) Percentage to sales approach (2) Return on investment approach

(3) Competitive parity approach (4) Objective and task approach

7.  Indicate the correct code from the following that does not represent the Profitability Index
for an investment proposal of a firm : &

a) Average annual net income earned divided by the investment { " o

(

r
(b) Equating annual net cash inflows to investment f
(c) Ratio of present value of future cash inflows to investment making it equal to zero
(

d) Ratio of present value of future cash inflows to present cash o.lliltflows

Code : /—/ “'I

i i
(1) (@), (b) and (c) only @ /(@) and (¢) pnly
/ |
(3) (b) and (d) only 4) ! (@), (b%a;ﬁ (d) only
8.  Match the items of List II with the itéts of List I andrindicate the code of correct matching.
. </ /
List I \ 4 List I1
Vi
(a) Organisation Man ™ (i) Maximising self interest.
(b)  Self-actualising: Man (i) Using capabilities to develop a sense of creating
{ J{ certain things.
() Complex Man (iii) Sacrificing individuality for the sake of group.
(d) Rationail—.ﬁconomic Man (iv) Understanding human needs may not be the
4 AN final step in understanding human behaviour.
Code : f
(@ (b) (9 (d)
o
(1)'. (iv) (@) (@) (i)
l' cee .o . .
(2)%y Gi) (@) (@Gv) ()
G O Gv) @ ()
@4 @ @ (@v) (i)
pouss [N : Fapec
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(
(
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44 f
8. el - I i Hal 1 fieT™ gt - I@Iﬁ@ﬁ IR W& Fe T =IT FY
et -1 b et - 11
(a) SRS A9 () fed wi fehdadl W o 3T T |
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T o ToTU afensti 1 STERT LT S
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(2) Y@ @) @) o)
@) O (v @
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9.  Who proposed the Balance Theory of attitude formation ?

(1) Festinger

(2)  Fritz Heider

(3) Charles Osgood and Percy Tannenbaum

(4) Rosenberg

10. Which one of the following is an element of motivation according to Vroom’s Vector Valence

theory ? F

(1) Involvement (2) Equity 4

(38) Instrumentality (4) Existence {

{ r
11. Which one of the following is not a component of Bass” Theory of Transformational

Leadership ? : .

(1) Idealized influence (2) Inspirational motivation

(3) Intellectual stimulation (4) Team ¢consideration |

-
A
12. Assertion (A) : Under stressful situations, ja person is unable to listen to and understand
the message correctly. '

Reasoning (R) : During stressful situations, the psysc ological frame of mind changes and
the message gets distorted due to the beliefs;'experiences, goals and values
held by the recelven,pf the message. "

Code :

(1) (A) and (R) both are co re;"t a.nd R) is the correct explanation of (A).

(2) (A) and (R) both are cor ect but (R) is not the correct explanation of (A).

(3)  (A) is correct whereas (R) is incorrect.

(4) (R) is correct whereas (A) is incorrect.

i
13. Match the items of List-II with the items of List-I and suggest the correct code :
List-1 List-1I
(Source of resistance) (Coping mechanisms)
/ (a) Perceived peripherality of change (i)  Role redefinition and re-orientation

(b) Fear of loss ﬁf p"ower (i) Participation and involvement

(c) Fear of obsolescence (iii) Participation in diagnosis

(d) _ Fear of imposition (iv) Development of skills

Code : |

L @ (k) S(e) (d)

W'yl O @ @

@G O Gv) )

@) @) 6 @) (ﬁ)

4) @ (@) @v) (i)

v [ HINIHINLANN Fapec
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(a) ftad T s ()  wfrent @1 g gfefud s oik =% foem <)
{(b) wfr @ B =, (i) mTer ofR wferm
() STU=e I | (iif) THeM H wrferd
(d) Ao = wg (iv) hIRTeT o1 foehrd
FE |
L @ (b)) () (d)
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14.

15.

16.

3

Match the items of List-II with the items of List-I and indicate the code of correct matching.
List-1 List-II

(Model of Organisational Behaviour) (Employee Orientation)

(a) Autocratic (i)  Responsible behaviour

(b) Custodial (ii) Security and benefits

(c) Supportive (iii) Job performance A

(d) Collegial (iv) Obedience { 2 ’

Code l'
@@ (b) () (d) J :

1) ) @ GG L& b

@ (v G 6 G f/" g

@) 6 @) @ @ ¥y 1 4

@ ™ O @ G - (,

Which one of the following types of strike is without fhe consent of official of union ?

(1)  Jurisdictional strike . ¢ (2) Wild cat strike

(8) Sympathy strike -—h A (4) Slow down strike

Which one of the folliawinig describes the metamorphosis stage of employee socialisation ?

(1) Employee_: jjoins organisation with his values, attitudes and expectations.

(2) Employ‘eg‘II studies the organisation culture.

(3) Employee ! aldates the dichotomy between expectations and reality.

(4) Employee becomes comfortable with organisation and internalises its norms.

17.  When employees work longer days in exchange for longer weekends or other days off, it is
called :
(1) - Flexy time (2) Job sharing
Compressed work week (4) Extended timing
i HI\IIHIIIHH\HII“II\HHHHH\I“HHIHI\ 1 Papert
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18. ‘Employee relations” include which of the following ?
(a) Organisation’s efforts to manage relationships between employer and employees.
(b) The programs to prevent and resolve problems arising from work situations.
(c) Relations between management and trade unions.
(

d) Organisation’s structure of managing rapport between boss and staff.

(1) (a) and () (2) (@) (b)and (d) (3) (b)and (c) 4 (© Oniy- y
£ s

19. Inwhich of the following, the payment of bonus is linked to performance of specific empioyees
or group of employees ?

L

(a) Profit sharing (b) Gain sharing plans . r
(c)  Social system plans . & { (

Code : /.-" 1

(1) (a) only (2) fbyonly |

(3) Both (a) and (b) @ ! (a), (b’ and (c)

20.  Which one of the following is a contract made through collusion between management and
labour representatives and contains'erms beneficialfto management and unfavourable to
union workers ? (

(1)  Unilateral contract Y ¢ (2) Aleatory contract

(3) Sweetheart contract (4) Invalid contract

21. When an employee isfwilling to go above and beyond what is typically expected in his or her
role, it is known as :

(1) Employee Empowerment (2) Employee Engagement
(3) Employee Enhancement (4) Employee Encouragement
a

22. Indicate the correet code for the following types of decisions to be incorporated within financial

decisions.
(a) . Investment decisions (b)  Financing decisions
(c), Pricing decisions (d) Profit distribution decisions
Cod!é :
(1) (51) and (b) only (2) (a), (b) and (c) only
(3) (a), (b) and (d) only (4) (b), (c) and (d) only
youss [N 2 Fapec
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23.

24.

25.

26.

In case the profitability index of an investment is equal to one(=1), the net present value of
the investment will be :

(1) More than one (>1) (2) Equal to one (=1)
(3) Less than one (<1) (4) Equal to zero (=0)

For the following two statements of Assertion (A) and Reasoning (R) select the
correct code : {

Assertion (A) : Risk analysis of capital investment is the most complexiand Contlp;versial
area in finance. f r

Reasoning (R) : Capital investment decisions are based on estimates of future cash inflows.

L

Code : . : ¢
(1) (A) is incorrect but (R) is correct. g { (

(2)  (A) is correct but (R) is incorrect. /‘J =

(3) (A) and (R) both are correct and (R) is l"rlght e.xplanatlon of (A).

(4) (A) and (R) both are correct but (R) is not rlg‘k\ ’;planatlon of (A).
Acquisition of firms is the same as : 4 d ( adn

(a) a merger ‘\ I (b) an amalgamation

(c) a takeover 1 I (d) an absorption

Select the correct code.

(1) (@), (b) and () nly . (2) (), (c) and (d) only

(3) (a) and (b) only’ { (4) (c) and (d) only

&
M-M Hypothesii for capital structure is based on which code of the following assumptions ?

(a) Capital ma etlé'r are perfect

(b) _Firms belong to equal risk class

(c) " There is 1(?0% dividend payout ratio
(cl)lk There are nominal corporate taxes

Select the correct code.

(1) : (51) and (b) only (2) (a), (b) and (c) only
(3) (c) and (d) only (4) (a), (b) and (d) only
youss AN 1 Faper
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23.

24.

25.

26.

yours [ ]

I ot fafamT 1 envyear geehis T % SR (=1) § 1 39 fafEm &1 3 sdue gea 2
(1) T& 9 31w (> 1) (2) TH & WK (=1)
() THIHA(<1) (4) I H TR (= 0)

ATUFRYT (A) T IUT (R) o F=fcfad <1 oMl 39 H&l e Sl =89 HIT
atfireRer (A) :  Tsit faf=im w1 sifem faverso o 1 waffus faere @ feremerere B ¥ |

HIT (R) : Toit fafim & fofa umet Jehe stadare W Rk 1 {
%= I :
1) (A) @ ¢ fFg (R) T2 2

) (A) 9& ? R (R) T R ir *E.

(3) (A) T (R) W ¥ A (R), (A) FT T WEIH € |

() (A)@(R)aﬁﬂﬁ%m(m,(mw?éw@ww;ﬁ%l

Y T ARR TG T S \‘j

(@) T e 2 L0 WSTFH'F%'BT%I’

(c) T THET T _ﬁ{{ (d) TFHEITE

SEE TR ik SR

(1) (), (b) T (c) 7 ) (), (c) T (d) =

(3) (1) W (b) W ¢ J{ 4) (o) W (d) A

%ﬁﬁ%%ﬂ@—ﬁqﬁﬂwﬁmﬁmﬁﬂmaﬁ%ﬁwwmmmﬁa%?
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(b) wF TuH ot @ gt ¥
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27.

28.

29.

30.

R
—(E-D

The formula py = D.,K \ )

K K

share, D is dividend per share, R is rate of Return and K is cost of equity) for determining the

dividend of the firm has been given by :

(1) Myron Gordon (2) James E Walter

(3) Modigliani - Miller (4) David Durrand

(Where P is market price of shares, E is earning per

s
Indicate the correct code for the following two statements of Assertion (A)‘and
Reasoning (R) :

Assertion (A) : Invertors in capital market now have hlgher inclination for investment in
debentures. el . F

Reasoning (R) : Debentures have active secondary markets now. {
Code : /‘J . .

(1) Both (A) and (R) are correct ; and (R) i$fthe right e#planation of (A).
2)

(3)  (A) is correct but (R) is incorrect.
4)

Both (A) and (R) are correct ; but (R) is not th‘ ;ght explanation of (A).

#
g
4
F

Both (A) and (R) are incorrect. e
A f
A '

Which one of the following e ;g‘ss‘bs the tendency of consumers to interpret information in
a way that fits one’s precong;itions in the consumer buying behaviour ?

(1) Selective Attention (2) Selective Distortion
(3) Selective Reter{‘iion - (4) Subliminal Perception
w |

Which one of the following is not a factor that reduces price sensitivity of a product ?

4

(1) The prod&ct is more distinctive.

a

2) Buyers are fully,aware of substitutes.

(2)
(3) Buyers cannot store the product.
(4)

4) _ The product is assumed to have more quality, prestige, or exclusiveness.

I
{

31. Attributes or benefits that consumers strongly associate with a brand, positively evaluate,
and believe they could not find to the same extent with a competitive brand is known as :
(1) Crompetitive points-of-parity (2) Relational points-of-parity
Correlational points-of-parity (4) Points-of-difference
jours HIHIHIIIHH\ A 1 Fapec
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27.

28.

29.

30.

31.

R

e o eriel 1 R e % T gt py = Do k"~ P (ST P, el &1 o1SIR 94 &, B
K K

ufd 379 &1 €, D W 379 e €, R Y X ® W K 9w Ueit ona §) e men g
(1) =7 e g (2) ST 9l g
(3) HIfSieEm-fHeer g/ 4) <faegregm

AR (A) T8 TROT (R) F FrAfafad & e 29 w8t %2 2 Hifg £ s
SRR (A) : ol SR Rt e o § fafe 3 s e w@a §00
HIUT (R) : 319 RUTTE o Tgdioeh aTeiR AR |

< :
1

A)@(R)ﬁﬂé%@(R),(A)WﬂéW%l
2) (A) W (R) 3Fi TE € fh (R), (A)Wﬂ:&f@@wa'ﬁ%l
) | )
A)

@
@
(3)
(4)

A) TE & T (R) o ® |

4 Td (R) QM A © | | ‘dj

(

ﬁwﬁf@aﬁﬁﬁ?wwﬁwﬁmwaﬁ;ﬁﬁmﬁwﬁaﬁmméﬁ
wﬁwmwﬁm%ﬁmﬁ&ﬂ%wm%?
Vi

(1) =S &=
(3) TIAICHE FfaHRO (4) YWERIEA STFaeH

(2) =FARHS faehfd

g,
frefafad & 9 B W 98 Teh T § SRR 3o F Yo HIRSer B T § 2
1) AR ﬁwﬁw%

e amwmagaﬁﬁqumwm%
() T SeUR ] s T R
(
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' |
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Faye fe o foedt o= gfaeaedt sve & 35 o 9 3 =Sl 6l 9T | 98 Hed © ¢
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(3) ERHsHHS gl fog 4) AW foag
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32.  Which one of the following represents ‘Penetrated market’ ?

(1) The part of the qualified available market the company decides to pursue.

2

4

33. Match the items of List - II with the items of List -

List -1

(Components of holistic marketing)

(2) The set of consumers who are buying the company’s product.
(3) The set of consumers who have interest, income, and access to a particular offer.
(4)

The set of consumers with a sufficient level of interest in a market offer.

9
I and suggest the correct code :
4
List - II {

(Key constituent / dimension)

(a) Internal marketing (i) Brand and customer equity

(b) Performance marketing (ii) Stakeholde-:}‘- f

(c) Integrated marketing (iif) Ma}keting (-iepaljtment

(d) Relationship marketing ’(l'\‘;; Con‘:rflunications

Code I"I
@ ® © @ 1/

W) @ 6 ) @ /

@ @ @ @ @) Y o

@ @ 0 @ & o f |

@ @ @) v @)y

34. Match the items of List - II with the items of List - I and suggest the correct code :

List - I { ’{ List - 11

(a) Style , (i) = That comes quickly into public view, are adopted with great

/4 zeal, peak early, and decline very fast.

_(b) Fashion (ii)

human endeavour.

Currently accepted or popular style in a given field.

Code
@ (b) ()
(1), @) G )
@@ 6 @
@) O ) ()
@ G () ()
youss | [ TLANRANA 19
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32, foefafad § 9 =9 @ Sfed s1s’ &6 <9 & 2

(1) 21 ITeTed STSIR T AT FSTEehT T8R0T S o o ot 3 foranm )
(2) SULTEST H GHE S U SIS TS W
(3) SuEmeT 1 g foment w4, o1 iR Ug T o wEe W T
(4) TSR Y& § 99 R q &d o dlel TS ol 998 |
33. WEIT - I1 &l A1 I I Gt - 1 & 76l § Y 3R G& he &l 997 & ;
et - 1 T - 11 r "(r'
(U foquu & U ) (= gk /3T )
(a) AR fergum (i)  SUS qAT URh T
(b) FEFIER AR ) feduwe *E.
(c) SHfRa foqum (iti) oo fasm ”
(d) weier forom ) " S I."
@ ® @ @ /
1) @i @ @v) (i) ——
(2) @) @@ @ (@) "4 f
(3) (@) (@ () @v) -qh' { ;
4) @ @) (@v) (i) 1;
34. 9 - Ilaﬁﬂa‘rwﬁaﬂﬂﬁ 1 ! 7ol § Y SR WEl e 1 =99
T - 1 { ( gt - 11
(a) el () ST oS ST W AR e o e €, 39 9 SR ¥ STIAE I €, So)
4 = W A S §, AR I asht ¥ firree St ¥
/ ©) el .efi) T YAl & &5 B fe@rE < arelt stfyeafardl o1 U TRy iR fafire
B
OREEED (i) few T & F ecfur # Tiiehd =1 ARy el |
3K |
. (@ (b) (o)
(D)%, @) @) @
(2) = (@) @ ()
(3) (1 (ii) (iii)
(4)

porr HIHIIHIIHHI\I\|||\IHIH\IHIHHIIIINIIH||\||\|\|H|| 1

Paper-II

www.examrace.com



35.
statements being

Statement (I) :

Statement (II) :

The following are the statements relating to the new product development. Indicate the

correct or incorrect.

Most established companies do not focus on incremental innovation for
new product development.

Most established companies enter new markets by tweaking products for
new customers.

Code §
4
(1) Both the statements are correct. {
(2) Both the statements are incorrect. !
(3) Statement (I) is correct while Statement (II) is incorrect.. .
(4) Statement (I) is incorrect while Statement (II) is eorrect. { (
’ A
f i
36. Match the items of List II with List I and sell"lect the| correct code :
List I \ ' List II
(a) H.M.L. classification (i) To determine the grit-i'éality of an item and its effect
%, . on production'and other services. It is specially used
( “for classification of spare parts.
-«
(b) V.ED. classification 1} , (;'1) Based on the pattern of issues from stores and is
- useful in controlling obsolescence and helpful in
identifying active items and surplus items.
(c) SDE classificatiﬁan - (iii) The classification unit value is the criterion and not
' ( the annual consumption.
(d) FSN classification (iv) Based on problems faced in procurements,
o availability of items and useful in the context of
y scarcity of supply.
Code : f
(@ (b)) (9 (d)
a6 @) ()
@)%y Gv) @) ) ()
G @ @) @O
@4 @) @ @) (i)
youss [N 2 Fapec
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35. frAfafEd s T 3ae fomm & 6 § €1 39 T foar & o) 9& $e &1 99 &)

HUA () : ARy Tnfa sHufal Ty 3aar fam & fau gfg Setht e | s #fea =
Rl |

HUA (II) : 3TTerRiy Tenfua sufar u el & fore ScRl | Weee o U ek H o9 ! & |

<< :
(1) < FeE T T /
(2) <M HYE e i r
(3) U (I) T T Selfeh e () TeTd < |
(4) e (I) TId el He (I1) T&l 4 'i'
/,4 P
36. eI - 11 <l HSI <kl fHAM H=i - Iﬁqﬁﬁﬁaﬂiqﬁrwmwaﬁ
el - 1 Tl - \1
(a) TA.TH.TA. FfeRtor () TRAATH ﬂ%r_or < OO e iR Seare e S
(R T e T I o T ST e g
< 1{ -l 3 MR F ferg fepan s 2 |
(b) I afieRR ._“ (i) SR ¥ IR fFT S & e W menfid B1 3T9eed W
ez & fere Suarft & qen o wfka wel iR sifemiy
. Hal % TEEH L H HeR ¢ |
i.
(c) THEELE. Tl { (ili) STeRYTT SHTE AT AMEUE § 7 fob anfifer @ |
(d)  TH.TH T, TR (iv) SAfoufiiaal § on @ Sueed qen Hal okl TS WX
, e & den YR i e % Tl H STt T
= ]
. (@ (b) | (C) (d)
(1} (i) (i) (1 v) ()
@'y Gv) O @) (i)
@) @ @) @ (i)
4) @) @) (@v) (i)
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37. Statement (I) : The critical path has been defined as the longest duration path between the
first and the last nodes of a project.

Statement (II) : The duration of a project is not always the same as the duration of its critical
path.

Statement (III) : The Earliest start and finish times of an activity are based on the condition
that every activity will not be started and finished as early as possible.

Find the correct code for given statements being correct or incorrect.

i
(1) Statement (I) and (II) are correct but (III) is not correct. \

(2) Statement (I) and (III) are correct but (II) is not correct. {
(3) Statement (I) is correct but (II) and (III) are not correct. |
(4) Statement (II) is correct but (I) and (III) are not correct. {

y
38. Statement (I) : Internal failure costs are generated after the product is dispatched as a result
of non-performance to requir ents. ©

Statement (II) : External failure costs are ge’nerated before the product is dispatched as a
result of non-conformance jto requg}eménts

Which of the following code is correct related
incorrect ?

bove statements being correct or

-

(1) Both Statements (I) and (II) arq..correct. f
(2) Both Statements (I) and (I,Q' are not correct.

(3) Statement (I) is correct Bu ( If) is not correct.

(4) Statement (II) is correct but (I) is not correct.

39. Which of the followiﬂlg CO(ile is correct for the given statements being correct or incorrect ?

Statement (I) : | Method analysis is a technique in job design in which job is considered as
‘4 a whole.

Statement (II) : Principles of motion economy aim at minimizing the fatigue of workers due
o0 repetitive motion of the different parts of body.

o
Statement (III) :-!/\’ork sampling is a method used to determine the idle time of machine or
‘workers as a whole during the day.

Code : |

(1) Statement (I) and (III) are not correct but Statement (II) is correct.

(D
(2) ¥ Statement (I) and (II) are not correct but Statement (III) is correct.
(3) Statement (II) and (III) are not correct but (I) is correct.
(

4)  Statement (I), (II) and (III) all are correct

vourss | JLFITHANNN 2
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38.
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40. ‘Just In Time’ originally developed in 1970s by a Japanese company was initially known as :

(1) Honda Manufacturing system
(2) Isuzu Manufacturing system
(3)  Mitsubishi Manufacturing system
(4) Toyota Manufacturing system
f
41. Match the items of List - IT with List - I to find the correct code : ; .'f; ‘
List - I List - II { r

(a) Technological Processes (i)  Building Design, Facility"Layout
(b) Facilities (i) Vendor Capabilities, Acquisition Decision
(c) Personnel Estimates (iii) Process Design, I;rocess Linkage
(d) Vertical Integration Studies (iv) ,ﬁl Requ‘i'r;ements, Supervision Requirements
Code / - |
@ ® © @ 1/
M @ O @ @ /
@ O G @ @ 4 ("
O @ 0 @ @ <f )
@ O @ @ @) Vi

42. Following statements are given for plant location strategies :

Statement (I) : = White godds manufacturing companies have separate plants for colour TVs,
| washing machines, microwave ovens, etc.; for avoiding confusion and
‘4 bringing about economies of scale.

Statement (II) : .Pepsi and Coke have bottling plants scattered all over the country which
Eater to different regions to avoid confusion at the main manufacturing
set-up rather than reducing overall transportation costs and the lead time
for supplying goods in the markets.

Find the correctlcode of the above statements being correct or incorrect.
(1) Statement (I) is not correct but (II) is correct.

(2) 1:" Statements (I) and (II) both are correct.

(3) Statement (I) is correct but (II) is not correct.

4)

4) Statements (I) and (II) both are not correct.
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43. The following are the two statements relating to the theory of probability. Indicate the
statements being correct or incorrect.

Statement (I) : The probability of the joint occurrence of independent events A and B is

equal to the probability of A multiplied by the probability of B or vice versa.

Statement (II) : The probability of the joint occurrence of independent event A and

dependent event B is equal to the probability of event A multiplied by the
conditional probability of B when A has occurred or vice versa.

Ty

Both the statements are correct. {
Both the statements are incorrect. f §
Statement (I) is correct while Statement (II) is incorrect. ¥
Statement (I) is incorrect while Statement (II) is correct.- r

s N |i

-

44. Which one of the following possibilities leads }6{1" ype I error in hypothesis testing ?

1)
(2)
€)
4

(1)
®)

The hypothesis is true but our test leaqé to its'rejecfion.
The hypothesis is false but our test leards to itsjac '.ptance.
The hypothesis is true and our test leads to its a'g:ptar}c’e.
The hypothesis is false and our'test leads to its t:ejéc’;ion.

< f
45. Which one among the follow_ihgi relates to the probability-based sampling technique ?
Quota sampling . (2) Snow-ball sampling
Stratified sampl%,ing - (4) Judgement sampling

|

46. Which of the following statements relating to Correlation and Regression are true ?

_ (@ The Coeffigient of Correlation is independent of change of origin and scale.
( (b) The Coefﬁcienf‘pf Correlz‘it?on between the two variables is the arithmetic average of
the two Regression Coefficients.
(c) _ The probable error of the Coefficient Correlation is 0.6745 times of its standard error.
(d) Coefficient of Correlation multiplied by the ratio between the standard deviations of
\ the two variables denotes the slope of the regression line.
Code :
(1) (@), (b) and (¢) (2) (@) (c) and (d)
(3)  (b) and (d) 4)  (b), () and (d)
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47.

48.

49.

In which one of the following probability distributions, the mean value of the distribution is
the sole parameter of the distribution ?

(1) Normal distribution

2 Binomial distribution

4

(2)
(3) Exponential distribution
(4) Poisson distribution

P 1
f
Match the items of List-II with the items of List-I and denote the code of correct m?td}ing :
List - I List - II
Z-test

(a) Testing the goodness of fit of a distribution (i) f

(b) Testing the significance of the differences (i) Chi-square test
among the average performance of more i {
than two sample groups ' »

(c) Testing the significance of the differenc?‘ (iid)
between the average performance of two f

sample groups (Large-sized)

Code y
@ ® © 44 {

O G 6 6 </ |

(2 @) (@) @ i

G) @@ @ () .

“4) @ (@) (i

What is “Block Chain” in the field of information technology ?
(1) . Motherbqard protection device.

(3) Taking random'snaps of electronic transactions.

#(2) Protection,?( details of electronic transaction.

(4) Blocking continuous electronic transactions.

50. Wpen the organizational requirements advocate tight cost control ; frequent, detailed control
reports ; structured organization and responsibilities and incentives based on meeting strict
quantitative targets then it is called :

(1) Differentiation strategy (2) Focus strategy
(3) Diversification strategy (4) Overall cost leadership
porrss [ HRIHANRLNAN s Fapec
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47. Tr=fafed & 9 o9 9 wifgsda faqwo & faawor &1 9 T 9 qHevs § 2
(1) e feedopm (wmr fam)
2) wEAfTd feedterym (fgug formwm)
(3) THINiEE feR=RM (SREmis! foan)
(4) T fexdepRe

48. eI - I1 1 TSl o1 T Gl - 1 1 76) @ Y 3R WEl 9 % e 1 oo i L

it -1 weft - |
(a) Tordl foraeor =1 Te9 ST fthe o1 wiago i Z-em
(b) =AY AfHH TA FE F A TR 5 L () TR wla
offar S % wew e P, B 5

(c) amm%ﬁmmﬁw%ﬁaw (iii) F - wiero
o HE I W& (Fed THR 6 ) 1

@ () () __ 4
1) @@ 6 . (
@ @ G 0 Y. '
@) @) (@) (i) VR
@ O G G

49. Wuﬁaﬁﬁm%aﬂﬁ“wﬁ%ﬁ“w%?
TETATS & ST |

1)

Y sﬁaaﬁes%ﬂéqaﬂﬁaﬁgwl

( (3) sﬁwﬁwﬁféﬁsw&aﬁam|
@)

ﬁlﬁ??{l‘%%@?ﬂﬁﬁéﬁ T Bl Uk |

I
50. W ST d{lol?“l%dlka'@f SIUGREREL I, d- Www iiqlii Gfed e adn C{l|¢|(°||

Sﬁiaﬁmﬂma&a@mﬁ%aﬂwmméﬁﬁwaﬂ?ﬁ% 3= HeT Il S

(1) faves wrfa (2) = FE0 A
(3) Tafaeiiertor TorHld (4) HAY AT
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51. Statement (I) : Strategic turn around is a more serious form of internal retrenchment and
leads to divestment or liquidation.

Statement (II) : Divestment is usually a part of rehabilitation or restructuring plan and is
adopted when a turn around has been attempted but has proven to be
unsuccessful.

Statement (III) : Combination strategies are the simple solutions that strategists have to offer
when faced with the challenges of real life business.

i
Select the correct code for above mentioned statements being correct or incorrect.
4

(1) Statements (I) and (II) are correct but statement (III) is not correct. { |
(2) Statement (II) and (III) are correct but statement (I) is not correct.

(3) Statement (I) is correct but statements (II) and (III) are not correct. *

(4) Statement (II) is correct but statements (I) and (III) are rlot co%rect.

gy -
52. According to Weighted-factor Approach to strg(’;egic incentive management, if for any strategic
business unit, return on assets is 25%, dash flow is 25%, strategic funds programs

(developmental expenses) is 25% and market share i c;sése is also 25%, then this will fall in

which category ?
¥ F

(1) High Growth L 2 Medium Growth

!
</
Vi
53. A concept given for diversified corporations which advocates (a) What businesses should a
diversified corporation own and why ; and (b) What organizational structure, management
processes, and philosophy will foster superior performance from the corporation’s individual
business units, is known as‘ :

(3) Low Growth (4) Very High Growth

(1) Corporate|Portfolio Analysis (2) Strategic Alternative Analysis
(3) CorporétéﬁParenting Analysis (4) S.B.U. Analysis

Fr

54. A company in pafkaged tea business provides special service to its institutional buyers, apart
fromits consumer sales through market intermediaries, in order to encourage bulk buying
andrthus improxlfing marketing efficiency, is an example of :

(1) No change strategy
(2)\ J Profit strategy

(3) - Stability strategy
(4)

4) Pause/Proceed-with-caution strategy

vourss | JLFITHANNN 5
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51. R () : TOHITdeh AT 3Tae St &1 Tk Afesh TR &9 € S 31dfas a1 g s
3R & STl 7|
HUA (II) : STUMAY FHFAA GG 3727a] TS ATSHT o1 T § 31 3/ e 799w a1 § S
ST ST FHEATIEE 1 FAE fohan T F W TR fag gam Al |
HIA (I11) : 59 IRt aar feafa st gl o1 Qa1 w1 ISl © @ WOEifadl & 9 S
TILROT | GHIEM G O € |
STdF HeAl W foER Y 3R WE T =TT Y y
(1) e (1) 3R (1) T € wg e (I11) 7Terd 2| { -
(2) YA (II) 3R (1) F& & TG FHeH (1) T T I
(3) e (I) Tl ¥ W e (I1) R (1) Tord & | :
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A’
52. YUMIfae UIcERA YEEA % meﬁfmﬁ,-'wwmwm%fm
TGl <1 el 25%, e, FalTe 25%, T0THiiden feienresh (Toshmarcs =) 25% do aeii
IR gfig ot 25% 2, < e fem St F emom 2 )ﬁd ,
1) w=ATs GRS
@) s (@ s
ﬂ L
53. %aﬁaﬁﬁaﬁ%mﬁﬂé%;ﬁwsﬁaﬁﬁ%@%&ﬁ%ﬁmaﬁﬁ?mwwﬁﬂ
HT =feT 3R Fil; T (b) HIF T HISTHR FTEAT Foieid UhaTd qe U9 ¥ huReH i
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(1) WWW (2) Torifaes Senfeqen foversm
(3) . hITARE e forecrsom (4) THELY, favemo
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& e Y Ui /61 forsha o o Stfaiied oo HeamT shareli o) fordi Tamd oo st & @i
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55. Match the items of List II with List I and select the correct code :
List I List II
(a) Mission (i) Aspiration expressed as strategic intent
(b) Vision (i) Activities needed to accomplish plan
(c) Objectives (iii) Accomplishing results at certain time
(d) Programs (iv) Reason for existence \ p
Code / J J
@ () (9 (d) :
1 Gv) @ () () : f
@ @ @ 0 ) A\ 4
»
@) G () @ ) f’#
@ Gv) (i) @) ) \
P
56. The willingness to reject unfamiliar X Yell as negativle inforfnation is called :
(1) Marketing Myopia - - I (2) Vision Myopia
(38) Strategic Myopia LV (4) Environmental Myopia
57. Timely and adequate!pssist’ance and rehabilitation efforts to MSEs should begin on a proactive
basis when early signs of sickness are detected. This stage is termed as :
(1) Suppor:rir;%g Stage (2) Handholding Stage
+(3) Sustaining ?tage (4) Recovery Stage
58. Which one among the following is not a factor external to an entrepreneur ?
(1) MachineryI on hire purchase
(2)II'k J Accommodation in industrial estates
(3) " Binancial assistance from non-government sources
(4) Business experience in the same or related line
porrss [ HRIHANRLNAN 2 Fapec
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56.

57.

58.
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%< | f
@@ (b) (o) (d)

1) Gv) @ @) (i)

@ @ @ @ @ ' ‘

() (D) (v) (@) @) ; ,.fp{ y

(4) (v) () (@) () f !

\ ‘x

R SR TehRicHe G i e i i THfd sheamdl € <
N4 s
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(1) foredi W ARt Sl

@)\, sieiifirs dfer & s

3) 1: R R Edl § faxia dere
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59. Assertion (A) : When an industrial unit falls sick, those who depend on it have to face an
uncertain future.

Reasoning (R) : The sick units continue to operate below the break-even point and are, thus,
forced to depend on external sources for funds of their long-term survival.

Code
(1) (A) and (R) both are correct ; and (R) is the right explanation of (A).
(2) Both (A) and (R) are correct ; but (R) is not the right explanation of (A). | :
(3) Both (A) and (R) are incorrect. ..r‘;
(4) (A) is correct but (R) is incorrect. [ f
60. Individuals who are the founders of the business and conceptuahze abusiness plan by putting
efforts to make the plan a success are knownas: . ' (
(1) Quasi entrepreneurs (2) B(ﬁ(d entrépreneurs
(3) Pure entrepreneurs “) / Owner-maft;ager

|
f

61. Match the items of List (II) with the items of List (I) :4'/

List (I) 4 { " List (II)
!
(a) Entrepreneurship is essent@lly&r (i) Fransis A. Walker
a creative activity. 1 i

(b) An entrepreneur is an organizer and (ii) Peter F. Drucker
coordinator of various factors of
production. i' |

() An ent1:ep'reneur is one who always  (iii) Joseph Schumpeter

searches for'change, responds to it,
a

and exploits it s an opportunity.

Code.:

@ 0 |©
@) @ Q6
@) @ 0
© 1’1) (i) (ﬁi)
)
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62.

63.

64.

65.

66.

pouss [

In which one of the following years, the Government of India did not bring an Industrial
Policy Resolution ?

(1) 1948 2) 1956 (3) 1965 (4) 1977

Who among the following bridges the gap between inventors and managers ?
(1) Investor (2) Entrepreneur

(3) Industrialist (4) Intrapreneur

Which one among the following is not a true statement ?
(1) Accountability and transparency is not visible in less developed Coﬁmtries.

(2) A disciplined and controlled corporate governance can considerably reduce financial
turmoil. - F

(8) A good corporate citizenship is a sort of nationalpride. \ (

(4) A good corporate governance can consi@ﬁfa.bly retluce corporate frauds.

4 |'
Ethics are moral principles and values whic;t‘:I 3 I _."I

(1) are legally enforceable \ (j

(2) guide a firm’s behaviour 4
(8) provide employees with rules mbow to behave' Y

(4) govern the actions of an iQinﬁual

Vi .

Match the items of List-(II) with those of List-(I) ; and choose the correct code of
combination :

List-(I) !:' . List-(II)

(a) Procedural Justice {/(i) Justice to a particular community which has been suffering
in the past from injustice.

(b) - Commdtative Justice (ii) Treatequal people equally and unequal people unequally.

/ (c) Communitarian (iii) Justiceis ensured at the beginning and all people are treated
Justice ?K ' equally.
(d) Distributive Justice  (iv) Actions performed complying to the law.

@ () [(© (d
M () G @)
(2) L Gv) Gi) () ()
@) (v (O @) G
@ @@ @ @ v

) (@)
il
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62.

63.

64.

65.

66.
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67. Statement (I) : According to Plato, a capitalist system is unjust because of many reasons
including distributive injustice.

Statement (II) : Capitalism leads to alienation of workers.
Code :

1) Statement (I) is correct but (II) is incorrect.

Ty

3) Both the Statements (I) and (II) are incorrect. /

1)
(2) Statement (II) is correct but (I) is incorrect.
3)
4)

Both the Statements (I) and (II) are correct. { r

68. The “Polluters must pay” principle is commonly accepted practlce that thosé who produce
pollution should bear the cost of managing it to prevent damage to human health or the

environment. This principle was adopted in : /-‘4 P
(1) 1996 Manila Declaration ..'f I
| I
(2) 2002 Kyoto Declaration f \ /
(3) 1992 Rio Declaration ‘j
(4) 2007 Paris Declaration et
A (
« 1 '

- L
69. Statement (I) : For the impkoyement in the corporate governance, the Department of
Company Affairs (DCA) proposed a code of behaviour for the public sector
companies in the year 1998.

Statement (II) : The Clause 49 of SEBI was amended on August 2001, which had made it
mandatory for every public company listed on Indian stock exchanges to

| sign it.
Code : ‘4
/ (1) Statement ‘(P is|correct but (IT) is incorrect.
(2) Statement (II) is correct but (I) is incorrect.

)
)
(3) = Both the Statements (I) and (II) are correct.
). Both the Statements (I) and (II) are incorrect.

70. Who aimong the following has not given a model on Corporate Social Responsibility (CSR) ?
Walker Friedman (3) Ackerman (4) Carroll
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71. The following statements relate to Badli workman. Indicate the correct code.

Statement (I) : A ‘Badli Workman’ is employed in an industrial establishment in place of
another workman whose name is borne on muster rolls of the establishment.

Statement (II) : A ‘Badli workman’ ceases to be regarded as such if he has completed three
month’s service in the establishment.

Code

(1) Statement (I) is right, (II) is wrong. {

(2) Statement (I) is wrong, (II) is right. { '
(3) Both the statements are right. | [
(4) Both the statements are wrong. . ¢

s N |i

72. Co-determination is used for : s
(1) Collective bargaining (2) ‘industrlal democracy
(3) Industrial action 4) Umor‘leaciershlp

r
J

73. Statement (I) : Employeeleasingis %contractual arra gemeflt in which the leasing company
is called Profess1ona Employer Organisation (PEO).

Statement (II) : In employee, leﬂkmg contract, the leasing company provides employees for
non—spec1ahsled areas of work.

Code

(1) Statement (I) igi.correct but (II) is incorrect.
(2) Statement(I) is Iincor{rect but (II) is correct.
(3) Both the g;tatements are correct.

)

s (4 Both the srz?ten}ents are incorrect.

74. Who among the following relatives of a deceased insured person is not “dependent” under
therEmployees’ Ftate Insurance Act, 1948 ?

(1). Widow

(2 ) + Widowed mother

(3) Legitimate son who has attained the age of twenty five
(4)

4) Widowed daughter-in-law

vouss | FRININAN
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75.

Assertion (A) : One of the trends to build a sustainable competitive advantage are
innovations and innovations management.

Reasoning (R) : Human Resource Management has to be able to connect innovations with
the traditional change management to design a true powerful weapon
against competitors in the market.

Code

(1) Both (A) and (R) are correct ; and (R) is the right explanation of (A).  a

(2) Both (A) and (R) are correct ; but (R) is not the right explanation of;(A). ,.(;
(3)  (A) is correct but (R) is incorrect. { [
(4) (R) is correct but (A) is incorrect. {

{

[

76. Which of the following is not a principle of “HotStove Rule” ?
(1) Prior Warning (2) !,‘fmmediate Response
| I
(3) Consistent Action @) [ Person\al f_‘ipproach
77. InIndia, tripartite bodies of industria{relations began f)r{' the recommendations of which one
of the following commissions ? . !
(1) Law Commission of Ind&a? € (2) Whitley Commission
(3) National Statistical Commission (4) Kothari Commission
78. The extrinsic propert‘ies oft the product or service, including the ways in which the brand
attempts to meet customers’ psychological or social needs is known as :
(1) - Brand judgments (2) Brand resonance
" (3) Brand ima‘é?ry'., (4) Brand performance
79. Which one of the following is an example of ‘Real needs” of a customer ?
(1} The customer wants an inexpensive mobile phone.
L]
(2) "y The customer wants a car whose operating cost, not initial price, is low.
(3) The customer expects good service from the dealer.
(4) The customer wants friends to see him as a savvy consumer.
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F T MEA B, 1 FHel oIl & :

(1) Wﬂﬁlﬁ};'(ﬁvh) (2) SIS Sfedar

/ (3) dmUE &9 ‘f \ (4) SUe fooaEA

frfafea § @ &9 91 Ueeh ol arsdafaeh sTavaehdisti’ &1 328N § ?
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80.

81.

82.

The following statements relate to the functions of the marketing channel members. Indicate
the statements being correct or incorrect.

Statement (I) : Channel members do not gather information about potential and current
customers, competitors and other actors and forces in the marketing
environment.

Statement (II) : Channel members acquire the funds to finance inventories at different levels
in the marketing channel.

Code : &
(1) Both the statements are correct. " |

2 Both the statements are incorrect. |

()
(3) Statement (I) is correct while Statement (II) is incorrect.
(4) Statement (I) is incorrect while Statement (II) is correct.

IF
Which one of the following attributes of advepﬁ;’ing regardmg launching of a new product
calls for spending all the advertising budget 131{ a single périod ?

(1) Pulsing 'Contlll
(3) Concentration (4) ' Flighti

#
g
4
F
-

Select the correct code of the Asserti‘%)na( A) and Reasroning (R) :

Assertion (A) : Companies sh*ﬁlg_i measure the profitability of their products, territories,
customer gr(}ups segments, trade channels and order sizes.

Reasoning (R) : Measure of profitability helps companies determine whether to expand,
reduce, or eliminate any product or marketing activities to ensure
profiitabﬂ'ity control.

Code : | !
(1) Both (A) ind (R) are correct and (R) is the right explanation of (A).
Both (A) agd (R) are correct but (R) is not the right explanation of (A).

@
(3)  (A) is correct but (R) is incorrect.
4)

(R) is correct but (A) is incorrect.

83. Inll which one of the following types of store retailers, large, low-cost, low margin,
high-volume, self-service store attributes are designed to meet total needs for food and
household products ?

(1) Supermarket (2) Superstore
(3) Discount store (4) Convenience store
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80.

81.

82.

83.

frefafed wem fauom <9 e 9e@ & Yerl & oy # €1 39 W faur Y oiR 98 $2 &1 == H

HUF (I) : o1 TR ISR IRE9 § o1t 3iR amM Ureehi, Sfaeafefl qeon o1=1 seeni ik el &
HeY § SRR Tehsl T8l hid |

AT (1) : o7 T fauum = # fafv i W wion & famdrm &g Ffet gem 8

<< :

1

3 heE T i
ST Y TTord | | L
A () T € SAfh HeH (I1) Tod | f f

e (I) A © STalfeh e (I1) T&l 2|

2

1)
(2)
(3)
(4)

4

fordt 71 3cuTE Al SR o 3ARA %waﬁmﬁﬁmﬁf@aﬁ@m%ﬁwﬁaﬁw
ToIRITa oISTe @ T i 37987 T St © 2 /'J

(1) el = ggid (2) I“wq@ﬁr ;
(3) Hh=w TS (4) 3@?‘:%;@

aﬁmm(A)aﬂwaia(R)mﬁaﬂaﬁ%agﬂé%wﬁﬁ:

ARHYT (A) :  HUAT hl mﬁw @I, @uel, SR S T TR SRR SR W
ST A 1 HIT e |

& (R): TR B A T AR B e P g w0 3 R SR @
forgor Tifaferes =i =g, A T, B2 o1 3k ST HT H HErEaT fHerd! ¥ |

e : i' {

(1) A)aﬁw(R)aﬁﬂ‘mﬁ%am(R (A) I Tl TI=H T |

(A)aﬁT(R T TE € W (R), (A) T HE TR T

2

2
e (A)ﬂé%wf‘z[(li)w%l
()

(R)ﬂff%‘?l'éﬂ(A)W%l

|
frfafed # 9 fofd JohR o ©R Reer™ & @H-7 qe01 3Re] STANT o M b1 T4 ST b1 T
aﬂﬁﬁmﬁﬁﬂﬁ HH-ANT, HH-1Y, I=d TN, 5 Fell g 99 fopg g & 2
(1) YW A (2) RER
3) fewrse ¥R (4) HAfafTCE ®R

4
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84. Match the items of List-II with the items of List-I and suggest the correct code :

List-I List-11
(Marketing and Business Practices) (Meaning)
(a) Customer partnering (i) Working more closely with customers to add

value to their operations.

(b) Uncovering (i) Using data mining and other analytical
methods to develop deep insights into

customers and how they behave, ;

(c) Broadening (iii) Studying “best practice companies” to im_l;rove
performance. J
(d) Benchmarking (iv) Factoring the interests of customers, employees,

shareholders, and othgr stakeholders into the
activities of the ehterprice.

@ b © @ £\ |
M 6 6@ 6@ W : \
@ O @ @ @ /
G ™ 6@ O —
@ ™ @ @ o e |

o f

i
85. A firm earns return on investment at the rate of 20% , earning per share is ¥ 15, payout ratio
is 50%, cost of equity is 12%; the market price per share as per Walter’s model is :

(1) %300 * @), %240 B) %7 (4) T 166.67
i
w 1

86. Consider the below mentioned statements and state the correct code of the statements being
true or false. 4

/ Statement (I) : “A debt-equity ratio of 2 : 1 indicates that for every 1 unit of equity, the
“ompany has raised 2 units of debt.

Statement (II) : The cost of floating an equity issue is lesser than the cost of floating a debt
Code : .|

(1) Both the Statements (I) and (II) are false.

(2) ¥ Both the Statements (I) and (II) are true.

(3) : Statement (I) is false and Statement (II) is true.

(

4) Statement (I) is true and Statement (II) is false.
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84. -1 1 73l o1 T Geit-1 1 7al § L R G fHe I 927 Y

85.

86.

porr HIHIIHIIHHI\I\|||\IHIH\IHIHHIIIINIIH||\||\|\|H|| :

efi-1 -1
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(c) @i (i) FEASIET § IR F % faw " 93 st ooRr 1 grea
HET |
(d) S=mfhT (iv) SEW H Tfafafer H e <, SPRANE ad o=
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@ B © (@ [ |
1 @ @) () () f \
@ O @ @) /
3) (v) (@) (@) (i) ——
@) v @) @) @) 4 (
</ '

TF ®wH T W 20% aﬁa‘@iuﬁwm% gfq 391 3 T 15 §, N9 TS ST
50% ¥ T TG H G 12% ¥; AN 3 Wrew TR G 3797 AR FHid 20
(1) % 300 “ (2)) T 240 3) %75 4) < 166.67

iu
|

ﬂ%%qm%ﬂmﬁaﬂaﬁaﬁ?u@@wwaﬁ
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87.

88.

89.

Debt Service Coverage Ratio indicates which one of the following ?
(1) Effective utilisation of assets.

(2) Number of times fixed assets cover borrowed funds.
(3)  Excess of Current Assets over Current Liabilities.
(4)

Number of times surplus covers interest and instalments of Term Loans.

Authorised capital of a company is I 5 lacs ; 40% of it is paid up. Loss incurred during the
year is X 50,000. Accumulated loss carried from last year is ¥ 2 lac. The compaljr}f has a
Tangible Net Worth of :

[
(1) %2 lacs (2) %250 lacs (3) % (-)50,000  (4). ¥ 7,50,000

L

[

r

Match the items of List-II with the items of List-I and_tselect thle correct matching.
List-I  List-II

(a) Liquidity Risk (i) Referg'to the chance that the firm will be unable to
recoyer its dues fjrom its debtors.

|
(b)  Financial Risk (i) Refers to thh possibility of adverse effect on firm’s
assets, liabi ’cJé?s and income due to movement of
interest rates. V.
(c) Exchange Risk (i) { Refers to the firm's inability to pay its dues towards
{ creditors.
(d) Default Risk 'y d‘v) Refers to the inability of the firm to meet its financial
- obligations on time owing to non-availability of ready
cash.
Code e
i
@ (b). (9 “(d)
O 6 @ G W
@ @ @)% @) G
F@) Gv) () ) 6)
) @Gv) @) (O (@)
90. Which one of the following is related to control function of the financial manager ?
(1), To negotiate with bankers for a loan.
(2) ‘j'. To analyse variance between standard costs and actual costs.
(3) To estimate the future cash flows from a proposed project.
(4) To advertise the public issue of the firm.
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87.

88.

89.

90.

T W SR ST i § § fd qoia €2

(1) STl 1 JTet ST |

(2) TRl eTfeEl ford T il 1 et foRae T R

(3) el SFAIS WX =] STl I SR |

(4) AR fRat IR SrehTel 0T o TS TS TRl ol STER0 <l © |

fopdt st <Rt Stfershd oit 2 5 oIRa © TSRt 40% Fed €1 919 & SR 2 50,000. ﬁaﬁgﬁ?* EES
T ! Gied S < aE €9 § dl el o1 SRt Hae Jod 30 ¢ I

1) 227 2) %250 A 3) T (-)50,000 (4 Z 7,50,000

-1 1 7 ok fer™ geit-1 i 7 & L I H@ e 3 =71 i :*E.

Teit-1 | - F-11
(a) Teal SifEw (i) waﬂﬁawvﬁaﬂ?ﬁ%ﬁﬂﬁmﬁméﬂﬁﬁ@m

agﬁwmmﬁl
(b) focita sifEH (i) T gftece o RO GH i S,
éamaﬂaﬁI W Wi TurE el 4§
(c) fafm shfem (i) 4T T SR H1 STRT AR F AR F Fael
1\1{ T ST H T
(d) < SifEH VA (iv) T ST R TN ShT STeTeH % RO THA T STOT
- foritar el =1 g e W Hem T et B

a)
i)

(C)
| (i)
(i

~

i) (v
v) (i)

~—

)
iv)

(
(
(i
(i
(iv)

(
(i
(iff) &
(i) r)
(i) fi)

W@ﬁ@%wﬁﬁnﬁ%%uﬁaﬁﬁﬂﬁﬁwﬁﬁﬁw%?
(1) 01 % fAq sishe o e Hiel- T T |

(2)'§ T ARTA e A ARG 3 e Freoi s e e |
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91. A firm is currently earning ¥ 50,000 and its one share has a present market value of I 175.
It has 5,000 shares outstanding. The earnings of the firm is expected to remain stable and it
has a payout ratio of 100%. The cost of equity is :

(1) 10% (2) 5.71% (3) 100% (4) 23.50%

92. With project cost of X 300 lacs, profits after depreciation (straight line method) and tax for its
lifetime of 5 years are estimated at < 10 lacs, X 10 lacs, X 30 lacs, X 40 lacs and .50 lacs
respectively. The cost of capital is 12% and discount factors @ 12%, for the first five years are
0.89, 0.80, 0.71, 0.64 and 0.57 respectively. The Net present value of project is« .'I";

(1) < 8.90 lacs (2) 140 lacs f -
(3) % (—)207.70 lacs (4) 308.90 lacs

93. Match the items of List (II) with those of List (I) and dhoose the correct code of

combination. 5
-
List (I) List (}ﬁ’( .'

Credit Rating Agency)

Year of Eétablls'hment)

( (
(a) CRISIL i) 1860 \ '
(b) Moody’s Investors Service (i) 1909 ﬁ'/ 4
(c) Standard and Poor (11.1%‘ 1914 ( e
(d) Fitch Ratings (1:) 1987 !
Code : 'y d‘-
@ () (g (d =
1) @v) @) @ o (@)
@ O @ @ (o)
() @v) @) | @ ()
(4) (@ @) 4 @) (@v)
4
94." Which of the follgwiﬁg statements are true ? Select the correct code.
(@) WTO rules are mainly applied to trade in goods but other areas such as services,
intellectual property, etc., are not covered by them.
(b) GATT had contracting parties, whereas WTO has members.
(C)II‘ The dispute settlement system under WTO is much more efficient, speedy and
v transparent unlike the GATT system which was highly susceptible to blockages.
Code :
(1) (a) and (b) (2) (b)and () (3) (@, (b)and () (4) (a)and ()
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91.

92.

93.

94. ;

pouns |

Tk HH FdaE § 350,000 T T FAT W E SR 3HF Teh A9 HT AT ISR ea T 175 ¥l THE
T 5,000 I TR E | HH i A FEeR T Y 3T § SR SHHT AT A ST 100% §
1) 10% 2) 5.71% 3) 100% (4) 23.50%

T 300 @@ i RS AN & WY Gedgd (et @ yonett) SR % uvEn e uf st
qHAEY | ST 1Y shEw: T 10 A, T 10 9, 3 30 A9, T 40 m|@3m?50m%| STt Y

AT 12% amq%ﬁmaaﬂﬁésfmangU/ H W H 0.89, 0.80, 0.71, 0.64 aﬁ?@57%|
RS o1 fae adAe 7 80 ¢ {

(1) T 8.90 o 2) T 140 @G
3) T (—)207.70 G (4) T 30890 WRI

i

W(Il)aﬁﬂﬁwﬁmﬁaﬁa)ﬁﬂﬁﬁaﬁaﬁivﬁ%wmﬁaﬁi
T (1) T (1)

(hfee e weie ) (oo g8 ) |

(a) Tawfaa @) 1860 \‘/

(b) HEIS ToH Hidy (i) 1909 4

() TUEE e PR (i), (1914 ' Al

d) fra e ({ 1987 :

’*)

ﬁw@f@ﬁmlm Y& T? HE T H I R
(a) fowa =R (=g A.30.) Trm g segell & SR W A B € W dene,
Afgeh TS, MG S A= & Ik g AR e ¢ |

(b) St # dfaeer vet 9, Seih s el | gee €

(c), TxHA3M. % er=ria foeng foem yoredt sifues <&, @iRd iR uresfl & < sf.q &2, yomed,
J ot stadie o1 W Tfye €, 9 foepa o1 €1

(a) ¥R (b) (2) (b) ¥R (o) (3) (@), (b) ¥R (c) 4 (a) &R (o)

(R s
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95. Which trade group, among the following holds “Tamil” as one of its official language ?

(1) ASEAN (2) SAARC (3) BRICS (4) MINT

96. Assertion (A) : The integration of domestic economy through the twin channels of trade
and capital flows has accelerated in the past two decades which in turn led
the Indian economy growing from < 32 trillion in 2004 to about X 153 trillion
by 2016. f

Reasoning (R) : The Government of India is keen to grow exports and provide moregobs for

the young, talented, well-educated and even semi—sk}lled and unskilled
workforce in India.

Code : : 4
(1) Both (A) and (R) are correct; and (R) is the rigllnt‘explanaftion E')if (A).

(2) Both (A) and (R) are correct; but (R) is nPt" the righF explanation of (A).
(3)  (A) is correct but (R) is incorrect. I.'f . I-I

(4) (R) is correct but (A) is incorrect. f f

\/

97. Which of the following is a benchm&rklng tool to measure performance along the logistics
supply chain among countries ? ¢

X

F
Fd

(1) Logistics Preparedness Ipclexd'-
(2)  Supply Chain Performance Index
(3) Logistics Performance Index
(4)

i
4)  Supply Chain Prepatedness Index

‘4
98. _ Which of the following is/are not true about linear shipping ?

(a) Itis used for cargo with higher unit value and manufactured or semi-manufactured
goods. '

(b) = Its shippiﬂ{g lines offer slower shipping services.
(c) It operates regularly on a fixed schedule.
(d)lk v:" Its document of transport contract is called ‘Charter Party’.
Code
) and (c (@), (b) and (d) (3) (d) only (4) (b) and (d)

i 2

J-01718
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95. frfafed § & &1 ¥ =R Tg § ‘qfrer’ stfuemiies sl # 9w § 2
(1) eAreEH (2) ¥k @) fom @4) fa=

96. 3MURYT (A): forma < ol | IR SR ISt YaTE & THEY TR & HeAn 9 =] srefeawen &
THHA 1 Tfa fieft © o oo ey un?ﬂaawsisqawsﬁzoozxﬁmz
faferam off sIge 2016 & wrem 2 153 feferem o w59 T )

T (R) : R WHR TRl aef aon wRa § Jane, Hﬁfﬁﬁlﬂﬁﬁﬂf&ﬁﬁ?ﬂﬁfﬁ%%
3TE-FIS SR AFIA HETEA ] ISR LT I hY S5 ¢ |

(A) 3R (R) 3 W& &; 3R (R); (A) 1 G TS E Ji’

(1)
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3) (A) ¥& § W (R) To@ | , _

(4) (R) 5 T (A) TTo@ B ‘df

¢ ("
97. ﬁwﬁf@aﬁﬁaﬁ?ﬁ%@%aﬁgﬂwm Sl o | HRATTSAIET Sl A T SHTIRT HIEH
772 ;;

(1) F9R TR gaehich (2) Y SEen HEfRT gEwih

(3) TR aﬁr&ﬁmﬁgﬁﬁ?‘m 4) TRt sfwan o e

98. Y@t il & wey # et § ¥ SH-9/9 F& T8 82
! (a) mwﬂwm%ﬁw%ﬁﬁhmaﬁﬁﬁhaﬁaﬁ¢wawﬁﬁ@m%|
(b) ZEen! Tt X efedt faft Yensdi 1 yeae w2

() u% UF Frr ergget W Frafid w9 9 e §

' . o ;
(d),  9REE Gfaer w1 e =X 9 e g
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99. The statements relate to International Financial Environment. Denote the code of the
statements being correct or incorrect.

Statement (I) : Foreign exchange risk denotes the variance of domestic currency value of
assets, liabilities, or operating income attributable to anticipated changes in
exchange rates.

Statement (II) : Foreign exchange exposures denote the sensitivity of the real value of assets,
liabilities and operating income to unanticipated changes in exchange rates
expressed in its functional currency.

Ty

Code ; rr‘
(1) Both the statements are correct. f r
(2) Both the statements are incorrect.

(3) Statement (I) is correct while Statement (II) is incorrect.* ; 4

(4) Statement (I) is incorrect while Statement (II) is €orrect. { .5'

A\’
100. Which among the following firms having fore;gn trade quahfles for financial assistance under
the Market Development Assistance (MDA)rSChem
(1) Having annual turnover upto I 10 crore. 3 (f
2) Having annual turnover upto < 20 crore. ,.*'J

(2)
(3) Having annual turnover upto 325 crore.
(4) Having annual turnover ﬂ};.to% 30 crore.

4
1 {
-00o0-
{ -
{
‘4
F jf L
I
i
§
y r
rons |[[{ILIINAILA TN 54
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99. Trfafed wem i faxia oo 9 Fafud g1 37 W foar &t 3R W& e o1 =997 &)
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E.
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